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NB.: (1) Question no. 1 is compulsory ¥

(2) Attempt any three questions from the remaining five questions. . Y
(3) Make assumptions wherever necessary and state them

I Explain the following (Any four) . (Ar‘;)‘f 20
' (a) Circuitswitching Kol
(b) Different types of Ethernet .
(c) Structure of IPV4 . e,
(d) Basic structure of HL7 message “.\f),)
(e) Network Attached Storage o=

2.(a)Given: Y 10
Number of needed subnets: 1000 ) V
Number of needed usable hosts: 60 o2
Network Address: 165.100.0.0
Find (i) Custom subnetmask ‘\QZ
(ii) Total number of subnets A
(iii) Total number of host addresses —
(iv) Number of usable addresses ~.'
(v) Number of bits borrowed ,\C\E‘
(b) With example explain classless and clagt full addressing . 10

3 (a) With suitable example explain IE%’A‘ algorithm 10
(b) Explain TCP/IP Model in detaft, ' = 10 .

. @
. 4 (3) Drawa labeled diagram and explain the components of PACS.

' 10
(b)‘ With aneat diagrama‘g:"::{pfain the integration of information between HIS/RIS/PACS 10
; e
2 (&) Explain the DIC(\-jM data communication model 10
: tﬂ)f’Describe thf: ,\E_@ﬁent Information Reconciliation (PIR) workflow 10
ite short giates on (Any 4) 20
"2a) Stbstitution Cipher |

> Supemnetting
' LAN Topologies
- HIPPA



